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The two modules concerned with evaluation, Individualizing Objective\T esting and

* . 7 ’ ! : '“ ,

FOREWORD . -+ ! | e

. : , . . R

To implement an educational approach successfully, ‘one must match the ;;hiloso~_
phy .of cvaluation with that of instruction. This is particularly true when individual-

ization is the key element in the educational approach. Yet, as important as it’is to

achieve this match, the task is by no means simple for the teacher. In fact, without

specific resource materials to help him, he is apt to find the task ovetwhelming. For .-

this reason,’ISCS-has.developed a set of individualized evaluation materials as part of

its Individualized Teacher Preparation (ITP) program. These materials are designed

to assist teachers in their transition to individualized instruction and to help them

tailor their assessment of students’ progress to the needs of all their students.
!

Evalwating and Reporting Progress, can be used by small groups of teachers in in-
service settings or by individual teachers in a local school environment. Hopefully,

“they will do more than give eacly teacher an overview of individualized cvaluation.

These ITP modules suggest Key strategies for achieving both subjective and objective v
cvaluation of each student’s progress. And to make it-easier for teachers to put such ‘
strategics into practice, ISCS has produced the associated booklets entitled Perform-

ance Objectives, Performance Assessment Resources, and Performance Checks. Using
these materials, the teacher can objectively assess the student’s mastery of the proc-
esses, skills, and subject matter of the 1SCS program. And the teacher can obtain,
at the moment when “thcy are needed, specific suggestions for remiedying the stu-
dent’s identified deficiencies. SRR .

If you are an ISCS teacher, selective use of these materials will guide you in devel-
oping an individualized evaluation program best suited toyour own settings and thus
further enhancé the individualized chagacter of your ISCS program.

X

The Co-Directors
Intermediate Science Curricutum Study
Rm 415, W.H _Johnston Building

. rd
¢ 415 North Monroe Street .
Tallahassee. Ilorida 32301 )
» . ' ,_
> ‘ .
v
\
[ 4
3 \ t . \
v 1Y ., i



_NOTES TO THE STUDENT

- Now that youliave completed several chapters, cxulrslons and sLIt~0valuat|ons you
*are ready to help your teficher determine how well you are doing. The pcrform‘mu
checks in this book will provide your teacher ‘with this’ information. Then your »
teacher can help you with thmgs you may not understand and can keepta I'CLOI'd
of your progress.- - , : :

Read the next section carctully. It cxpluin& some important things about the per-
“formance checks in this book, and it gives you spuutu suggestions for using them,

.

Wlmt You N-ed To Know about Pertormance Checks

' ] . . :
o l. You do performance checks when you are ready. Per-

1

formance checks are somewhat like the questions in the self-
evaluations  you do them when you are re ly. not when,
, thc whole class is ready. '

K Your teacher or both_ of you decide how many you do,
Your teacher or you and your - teacher together will decide
which ones you shotfd do. You are not cxpg‘ucd to do all
of the performance chucks. ' : ’

3. There age three forms for each performance check. Lvery
performance cheek ig written in three forms A, B, and C.
- (The title of this booklet tells you whether it js FForm A, B, or ™
C.) Usually the answers for cach torm are different. When
you do a check, you will use only one form. The A, B, and €
forms are alwiys in different booklets, Within cach booklet
all the pcrI'()rnmncc objectivés for the same unit are Iistcd.
together.. A unit contains two-or three chapters and their i re- “
lated excursions.  These units arejin numcrlull order. l‘uh
unit has pcrIornmmc checks hasct} on core material and pcr-
formance checks based on excursions. o )
-4. Each performance check has its own number. The¢ number
is i the ontside margin of the page and will look like. tHis:
IV-03-Core-17A or WYY:02-Exc 4-2-2A. These numbers mean

-

~and WYY ()"- bixc

IV - 03 Core - 17 A 4-2-2 A
»
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5. Each performance ‘¢heck is separated- from' the other.
There Ts a line before cach performance check and one after

~it. Some pcrtornmnw checks have several parts, so do.cvu'y-

thing called for between the fines. If there is no line at-the
hottom of a page, the checkeis continued onto the next page.

Sometimes. you will need to use equapment‘ If. special
nmtcrmls are needed, they will*be in boxes labeled with the

same nuinber=md sometimes ‘the same letter too as -the per- —

formance check for which you need them. ,

7. Some performance checks have two or more amwers. lt
more than one answer is correct, you must \clcct all the cor-
rect choicgs. . In suchcages, sclecting just onc answer is.not
enough. 2 :

8. Some pdrformance checks have no answers. Occasionally.
you mity hc asked to do something that is lmposslbk and to
explain your answer. df S0. say that thc task is nnposslblc
and explain why. '

I e .

This isnit the kind of
checkbook youwrite in,

9 You share books of performance checks and YOU DO
NOT WRITE IN THEM. Write your answers on other_paper.
“Give the number and form of the performance check for cach
_answer you write. I you are o draw a graph, a chart, ora
mip. your teacher may provide you with grid paper ora copy
of the map or chart.

10. Your teachef or hls assistant will (ollcc and mark your
checks. And soméfimes you must ask him to watch or.assist
you as you do a cheek.

I1. Sometimes a review procedure will be suggested. It you
can’t do a performance check, you may be asked to review
a part of the text or a self-evaluation qucslwn You may
then be checked on the same material, so be sure you under-
stand the material you review. Get help it you need it.
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I. State what parts of mets aﬁd ammals make sperm,
2. What does a sperm do?” '

WYY
“01-Core-1B

Eggs and sperm are involved in produung offspring of many org,amxmh

WYY

WYy
1. What is the source of an cgg? 01-Core-2B
] .
2, What js the tunction of an egg?

‘During the mating of animals, what happens to sperm? o _WYY '
' LM o ' 01-Core-3B

Getsome ether, an etherizers and vial WYY-01-Core-4 from the supply area. Etherize WYY

s the fiuit flies in the vial. Have your teacher check the etherized fréit flies. . - 01-Core-4B

Get vial WYY-01-Core-§, two cmpty capped vials, an etherizer, and some ether from . wyy

the supply arca. Don’t taku any of the tlies-out of the vial at this point. - Etherize the *01-Core-58-

flies in the vial. Shake the vmlguntly Remove the flies from the vial. Now put the '
ctherized flies and the dead tlies into separate vials. Cap the vials. and label cach

as containing dead or ctherired flies. Have your tuuhur check your work. Return

all the flies” tq the vial you ot them from. .

- H‘-- - :

Get.some ct«\‘cr. two empty vials with caps. an ethetizer, and vial WYY-01-Core-6

! - . . o ). : P . N
<N from the su;’:p‘ly arca. - Etherize the fruit flics.  Put all the nvale flics into one of the 01-Core-6B
cmpty vials andvall e female tTies into the other empty vial. Cap the vials, and labiel '

cach as contuini\ male or female flies. Have your teacher check your work. Return
Call the flies to theoriginal vial. - ' '
all the _u.s L\(.. ¢ .| i ) . ) .

Y- — -~ -
N ——
State what you would do to obtain virgin female fruit flies trom a vial containing WYY
nonadult and adult ﬁ'mt flies. ' ' 01-Core-7B
. & . ~
Operationally define ﬁ_yr‘(’ strain. . ‘WYY
: o 01-Core-8B
What are the stages in tﬁghl‘c cycle of a¥rhit fly? WYY
¥ : e 01-Cora:98
:‘\l-. )

Get jar WY Y-01-Core-10 and a hand lens tfrom the supply arca. Point out to your WYY
. tepcher the egg. the larva, llh, pll])l and the adult stages in the jar. 01-Core-10B
‘ \':;1 o] i \ A‘

What appearance would be poﬁ.'ihlc for t'irsl-gcncruti(m offspring of a cross between WYY

fruit flies that are pure strain oy bristles on their bodies and fruit flies that are pure 01-Core-11B

v

“strain for no bristles on their bog r.k‘s'.’

v
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wyy -

l Iowcrs havc many different featuresthat show variation. 1n one gxperiment, Pctc

01-Core-12B - studied only onc feature. flower color. even though flowers inherit many teaturcs at .
oric time. Why would Peter study the mhc_rltanw of only one féature at a time?
- * — & N
. WYY Verna crossed bean plants that were pure strain for green pods with bean-plants that
01-Core-138 were pure strain for yellow pods. Then she crossed the first-generation offspring to
' get the second-generation offspring. Predict the appearance of the first? and second-
“generation offspring of “this cross by choesing the correct descriptions'lwlow. .'
1. Among the first-generation offspring .
A all plants had the same color pods. : ,
' b. some plants had green pods and some. plunts had yellow po(ls
2. Among the second-ge mmlmn ()leprmg - .
a. all plants had the same color pods. ‘ .
) b. sonre planls had gréen- pods aml somc plants had yullow pods.
"WYY Sam crossed two purc—slr'uin'pl;nqlls. One had orange flowers, and the other had blue -
-01-Core-14B flowers. He crossed the first-generation offspring with each other. Predict the most *
. likely ratio of variations of flower color he will get in the second-generation oft-
spring. .
wyy “Tell your teacher that you are about to do this check. :
01-Core-158 “In the supply arca. you will find a box of beans labeled WYY-0L (orc 15. You
' are to estimate the ratio of lhj white beans to tlu br()wn beans in the box quukb
and accurately.
- a
WYY

-+01-Core-16B
evn

Getvial B from box WYY-01-Core-16 in the supply arca. Look at the beans carefully.
Are they pure-strain beans? - g

oY
R L. SR I

Pl . A

WYy
01-Core-17B

.

The table below refers to the offspring produced by nuiting lwo petunia plunls both
of which had red tlowers.

o ( l Nl RAII()N l L()W!, R ( ()l ()R
' I_’zm nts 1. rcd
tst-generation tred
offspring '
lml'—gcncrulion red _
()Hsprmg : ’ e -

l. According to the ISCS twosbit model. is this variety of petunias pure
strain for flower color?
2. Explain your answer.

~ona
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Supposc you Lrossul aQ ‘pure- str.nn dwart marigold plant with'a pure stmm giant = - WYY :
m‘mgold which statement besf describes: the first-generation offspring of this gross? " 01-Core-18B
a. There will be a 3-to- b ratio of giant marigolds'to dwarf mdng,olds . _ R
b Half the plants will be dwarf *and half will be giant. ' ' ' '

. All the plants will be.of a medium height.
d. Either all the plants will be dwarf, or all the plants will be g,lant
~¢. There will be a 3-to-1 ratio of dwarf" n_unrlgo_ld.s to giaht mang,ol_ds

-

D
o]

“Suppose you were 1o CFoss swwt pea plants that were purc stram forfred flowers with . WYY,
sweet peas that were pure strain for yellow flowers. “Select the statement: that bust * 7 01Core-19B
dcscnhcs the appearance of the second- -generation oHsprmg of thls IFOSS. ' '
B [ )
. All of the flowers will be orange. ‘ .
l) S()mc plants will have all yellow flowers, and the- othtrs w1ll h‘lvc all rcd K o
_ ﬂc)Wcrs There will be a-3-to-1 ratio of the colors, : e . ST
¢. Allof the plants will have half red flowers and half yellow ﬂowcrs : E e
d All of the pfunts will have onc-color flowers, but 1 cannot tell if they =~ . s e
~  will be yellow or red. L L ' '
. Half of the plants will have all red flowers, and the othcr lalf wnll havc-dll L SR
¢ ypllow flowers. : o ' '
Two pure strains of wheat were cros's'cd An the scuoml-gcncmllon ollsprm;, of thls T WYY
cross.there were 71 dwarf plants and 198 tall plants. . : o - 01-Core-20B ,:
[. What did the wheat plants in lhc hrqt-gcncmtlon onprmg I()ok Ilke’ '
2. What did the parent wheat plants’look like? ' _
Your teacher will observe you for this.chieck when he can. : B . WYY A
& - _ ' o S 01-Core-21B- &4
’ - . . . ’ N . - .
Y our teacher will observe you for this check when he. can. - S - . WYY R
: : T ?, - .01-Core-22B >
. . . . ‘ . . : . . * -
Your teacher will observe you for this check when he can. . - - WYY
' o ' - 01-Core-238
Your teacher will observe you for this check when he can. - WYY
: ' 01-Core-24B
“Your teacher will observe you for this chetk:when he can. o WYY
' ' ) ~ 01-Core-25B
lhc word ¢ross appearsin reports of experiments done to find out how characteristics . WYY
are inherited. Give a definition of the word cross as%t is used in such reports., . 01-Exc 1-1-18
L : — v
* ’
$ L L : .
.!~ ' N / . N ' 1
W . ! - 1 .
: w ] . . TR .




Bclow are two dulnltlons of ways. m which- pcople differ. Study these defmmom
dnd answer 1he qucstlons that tollow ' ‘

. . P
Q. . . -

.
[}

01-Exc 2-1-2B
L S .

mtlos

1

3.2 to 1

7.1to'1
128 to |

B SR SVEN JFR-

1901 L Ca

1
-
b

l)ctmmon a; A pcrson sgold fmdmg ma’e\ ls lns ability to fmd gold mmes
" Definition b: A studlent’s kick index is a measure of how. far he-can kick a soccer ball,
CItis determined by measuring in meters how,. tar he can. klck a properly mflatcd
soceer bd” : . .
¥ [} * . 3 . . .
' ) I Wlmh of the abovc is an omrdtldnal ddmmon’ .
) -\ 2 tx;wlam.thc reason. for your dnswu L o
._-WY'Y ) 'thu,vcr possible, there- arc two quegtions an opcrdtlonal definition ot unythmg '
01-Exc 1-2-2B - should answer. What are 1hos«, questions? . - _ >y .
wyy Many insects, such as frujt ﬂILS have a short lite L)’(IL‘ In Florida there are few, |I‘
01-Exc 1-3-1B ~any. of these insecfs around during the winter, but they.are plentiful during.the rcst
C ~of the ycar l xplain why so very few ot thcsc insects dcvclop durmg the, wmtc
wyy What is the total number of bits of mfommtlon that all of ( hqyl S &,reat—&,randparcnts
‘01-Exc 1-4-1B had for the tuaturc Iutchluker s thumb. _ : _ ‘
\ Y - Ml _ . . - L : — g . 'x. S
wYy __ Lucy has black hair. Her ucat-grcat great g.rdmlmothcr Mary had black” Innr her
xc 1-4-2B great-great-great grand 'r Michael also had blauk hanr @d hcr grut-grcat-grcat- L
' grandfather Herbert had blond hair. _
1. Can you detérmine which of her three grcdt grc‘ltﬂgrc‘lt-grandparcnts ¢on-
trlhul'ul the bits for Lucy’s black h: air? : '
2 prlam YyOur-answer. *
WYY v, Susan found after a party that her gucsté had drunk 15 colas and 7.oringe soda pops.
01-Exc.2-1-1B What is the rough ratio of colas to orange pops that- her guests dmnk" [‘xprcss the
' ratio to the nearest tcnth or 1 decimal place. _ S
wyYyy Nancy LdlLLllJtLd the rough r'mos shoWn hclow (‘onvcrt these to rounded-off
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+, When, LX‘ll‘llllllllﬁa the second-generation offspring of a cross bLtWLL‘n two pure- -strain . *° WYy
r " parent ﬂu,s, Richard llOtlLL‘(l that the Iungth ofthe bristles on thur bodies were not® o' 02:Core-1B -
R the' sume o, all thc flies. He counted 22 flies with long bristles and 7 wnt’short ' .
bristles. - : :
e © 1. What was thc Bristle . qu,th ol cach otﬁhc orlgmal puru -strain parents? - -~
o~
. ° 2..What wals the bristle length of the Inrst-gcmrdtlon oll%prmg’ . ' oo
a ¢ . 5 - T . . "ﬁ. : : > . - v ¢
“If you Cross pure -strain, )Mlow~bod1ul fruit flies witli pure-strain, normdl lored ‘WYY . 4
ﬂlc(xu_u_lMJt all of the |lrsl-[.,CllCr¢l‘llOll offspring have normal body colog§ It you- 02-Core-2B
v o then.eross the first- },.Llltl‘dllOll oIIsprmg, what will be the ratio of yéllPWvbodlul o .
ﬂlL“s to nornml colortd ﬂlu‘m the scu)nd-;:,cncratlon otIsprmg" : _ P
b o “' - . ‘., . . v N P '
Choose the statcmult below «that best dm[m;s the\mttcm by wlmh tuaturcs are - . W¥Y¢ SR
‘i lsscd from parents to offspring. v . W o, 02- -3l , -
° a. s he Icatures ‘of the offspring arc I(lCllflL.ll to thosc of their parents. - . Cop v .
b, The features of the ollsprmg .lrc dlIIcrcnt Irom those of beth of their o A
. parents. ¢ : : Y e : .
o o ¢. The m" ¢ oltspruu, show the ﬁwc Icaturc as thur malc parcnt and tlm ) L ' "‘K 0
) female oMspring have the same l'mturc as their femmde parent. i , g " -
«d: The offspfing generally :.how some Icaturu"m conuwon with each ot their;s - : o
parents. -. : . : & )
.y . ’ . B
x C— - : : 3 ym = :
" Dr. Beanis a sucntlst who studies pattcrns ofmhcnt.nncL What do youcall Dr. Bcan S wov \\_NYV'
- o " arcaof SLILntHlL %tudy” S _ ' - _ = 02-Core-4B
The figures below show a possible way to explain a cross between brown beans and . WYY
white beans. using the one- hll model of inhieritance.  State the assumptions of tite 02-Core-5B.
one-bit modcl of inlieritance. ' _- . o - ' ’ - -
. - ;
Pure-strain Pure-strain R Pure-strain = Pure-strain
parent #1 © parent {2 > parent 1 parent {2
X Jo .
. \L . = LT .
Brown "White . _ _ .
+  First-generation offspring _ . Br(_)wh bit _ ' Wh‘lte bit. _ _
. : of information of information - .
N ‘ . . '] . ) - .
. ‘n - ' : + First-generation offspring R ' T .
o Brown o v
» ‘ ' * - [ ’
n by .:_: ” -
. ’ s ‘. ) . . ’
2 v )




Why is the one-bit model dot a satisfactory model of inheritance for most features? °

02-Core-6B ‘ .
WYY . There are two models for gravity a particle model and a force modcl Select the
02-Core-78: - most impdrtant reason for deeiding why you should accept one -model rather than
. the othc\. Lo ‘ - )
" oA l)ook «.aid that once is corregt. .
\' ~ 7 b. One model involvless math. .
. ¢. One model agrees more cloYely wnth the experimental cvulunu

- ,  d. One model is more complicated than the other. »
' T ¢ Mosl pcoplc say that one model is better than thc/(_)_l_l,lu/ - ;
N . BN S
WYyy - o What are the assumptions of thitwo-bit model of inheritance?
02-Core-§B .
. o, . - '
WYY - “Phe inheritgnee of flower, color in zinnias follows the two-bit mm_ch.. Red color
02-Core-98 masks yellow, color. Supposc you crmscd pure-strain yellow xinnizlﬁ wilh pure-strain
' A N red zinnias. "
STy 1. Predict the color of the ﬂ()wcrs ol lhc (irst-genceration ()IIspnm, of this
CTOSS.
.. ~ 2. Predict. the u)l()r of lhc ﬂowcn oI the second-generation offspring of this
, Ny . LCTOSS, Include a ratio in your answcens .
WYy A planl that is pure strain for the masked (recessive) variation ol a feature is used in
02-Core-10B - a test cross. Why s it used r<ll|lL‘I than a plant that is pure strain for the maskmg,
o variation? ) . -
WYY Bertha'crossed two pure strains of lowers. One was pure strain for red flowers (RR),
02-Core-11B - and the other was pure strain for white flowers (rr). Her data are shown below.
: ' (il-‘.&li-kv\'l'l()N PLANTS WITHL . | PLANTS WITII
' T WHITE FLOWERS |~ RED FLOWE RS
e e e o e - S e
-t sarents g 1 . ~o
' ~Ist-generation = 0 | I8
. offspring I ol
. : lml-gcncrul_i()n"‘ ° 87 .4
~ : e ’ . L ’ *
olftspring - . :
I. Can You cxplain these datasusing the two-hit model ol inheritance?
-~ 2 Explain ypur answer. : :
2 0 L .
-« ’ ) \
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Suppose that a scientist pcrl'om?cd a crossing experiment and his results did not

-

E

Q

RIC

Aruitoxt provided by Eic:

WYy
agree with the two-bit model. To cheek his results, the scientist repeated the experi- , 02-Core-12B -
ment several times and got the same results, Select the answer that best describes B '
what he should do. .
a. Devise a new model which explains only his new wsults, '
b. (Imng,c his data to agree with the two-bit model.
¢. Try to change the two-bit model so that it explains both his new data and
’ the old data. ’ ‘
¢ d. Pullish o paper giving his data and xtatmg, that the two-bit modcl is wmng, '
’ and must be thrown out, ' E
¢. lgnore the results of his experiment because they do not agree with the
two-bit model. ) S h
- - ' s
George wanted to find out if the purple-flowering snapdragons he had were pure . WYY
strain for flower color. He knew that the bit for purple flowers would mask the bit 02-Core-13B !
for yellow tlowers.  He crossed his unknown snapdragons with some thdt he knew - '
were pure strain for purple flower color.  All the first-gencration offspring ()I"_this
cross had purple flowers. ' :
I. Was the unknown plant pure strain for purple I]owcns
Lk \plmfbyotn aAnswer, _ % :
= ' — —— a
A student wants to determine i a lily that produces orange flowers is purc\stf;lin for wyy
flower color. He knows that the bit for orange flowers will mask the bit for yellow -02-Core-14B
flowers, He test-crosses the orange-flowering lily - with a pure-strain lily that produces ' o
yellow flowers. Hulf the first-genceration offspring have -orange flowers and hatf have
yellow flowers. ’ -
I Is the, unknown lily planl pure slmm for flower color?
2. Explain your answer. You may wish to niclude a diagram in your exph- -
nation.
— . . — _
Frank wants to find out if & sweet pea plamt with red Nowers is pure strain for flower WYy
color. He knows that the bit for red flowers masks the bit for white flowers in sweet -~ 02-Core-15B
peas.  He test-crosses the unknown red-flowered plants with a pure-strain white- “
II()wcrlng sweet pea. All of the first-gencration offspring of this cross produce red
flowers.”
. Is the unknown red-flowering swccl'pcvaurc strain for floweg. color?
2. Explain your answer. : .
A puresstrain plant with yellow pods is crossed with a plant that is puﬂ‘ strain for WYY
green pods. All the first-generation offspring of this cross have yellow pods. Explain 02-Core-16B
why there are no I'irsl;gcncrulion'()I'I'sprihg that have green pods. o
- N i .
State the meaning of the term recessive bit as it is used in the two-bit model. WYY
( ) ' 02-Core-17B o
. ' . ’ LR
15 . S
S .‘ K ¢ ’ . " . N . .
- \,‘" ' . l T o ~
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WYY
02:Core-18B

What does the term dominant-bit mean as it is UScd if\_the two-bit model?

» ) . RN} .
N

WYY,

. 02Core-198

Suppose that rescarch was done involving the. featyre variations shown below. The
réport used the symbols in the right<hand colun‘n;[ f the table. After the numbu of
each feature varmtlon state whether it is domma' 0( FECESSIve. ,

FI:ATURP VARlATION - SYMBO‘IV:', FOR THE
_ | BITOF'INFORMATION *

l. Yellow seeds = . ' P

t

. . v ' . ’. !
. White hair : l - m L

Red eyes ot

FOON V]

Pllrpic flowers S B T

PO A
b4 —

y &

WYY
02-Core-20B

Write the numbcrs of the tcat re vartatiohs llst\.d below. Aftcr each number, write a
symbol to rcprcscnt cach feathre variation.

1 Green eyces (recessive)

2. Short wings (recessive)

3. Red flowers (dominant)

4. Yellow pods (dominant) - .o

wYyy
~02-Core-21B

Nino's parents and gmndparcnts all had hluc cyes. Carla’s parcnts and grandparcnts
(l“ had brown cyecs.
TH‘E NINO SALVADORE FAMM.Y

Carla
Salvadore
brown eyes

. Nipo
Salvadore
blue eyes

>

,Artonio - . Maria - “Ramona \ - |Mario
brown eyes brown eyes 7| brown eyes | brown eyes
. . v, R .

]

L.In thc T\jmo Salvadorc tamlly which variation hluc eycs or brown eyes 4
is dommam' . . . .

2. Which Variation is recessive? -

3. Statc the rcason for your answers to questiqns | and 2.

Fe

o [ - Y

v oy | R lﬁ v

S

L
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- A large family was surveyed to determine the pattern by which the total lack of wYyy
skin pigment (albinism) is inherited. T hc albino variation was found .to be recesmve 02-Core-22B

to normal plgmc'nt‘ltlon :
Ask your teacher for a copy of the chart below or paper to trch it. Determme the
bits that cach of the individuals shown in the chart could have. On your chart write - P
the bit symbols in the small circles below each large symbol. ‘Use N to represent
the bit for normal skin and n to l~resent the bit for albm;&m

1}

* - ’ ¢
{

KEY ;

2

. 00|00 00|00

SONE

"Albino | OO O@ OO @O OO OO OO ‘OO OG

female

. Male with ] .
normal skin’ ' A . '
Albino o

o - 00000000 . ©0. 0O

— — . . , -
The bit for brown color in some bean seeds is dominant over the bit t'()r white
color.  Suppose you cross planls which produce brown beans with plants which
produu white beans. - ’
t Will the beans of the first offspring dean plant bL brown?
2. Explain your answer. -

< WYY
02-Core-23B -

wx

: — : : " e
Construct an inheritance chart for the inheritance of tongue-rolling dblllty for the . ' \{VYY
families desceribed below.  Use squares and circlés and shading and nonshading. 02-Core-248B.

ﬁrNcar cach square or circle, write the person’s name and a possible pair of bits which
* fhat? pu‘son mby have. Use R for roller and ¢ for nonroller.
o Grandfather John Smythe is aroller, but Grandmother Ann Smylhc is a nonroller.
Y IhLlr childreit, Mark and Luke, are rollers. :
.randi‘lthur Pete Johngon is a nonroller, bat Grandmother Mary Johnson is 4
|ollu Their girl, Maly is a roller, but th‘:lr other child. Sam. is a nonroller.
Luke Smythc marries. Maty Johmon I'helr boy, Ted, is a roller. Their oth(:r

v - ) :
v “child, Lois, is a nonroller. - . L , .,
3 . ., iy . 3 .
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Aruitoxt provided by Eic:

. . e
. .. . ¢ *
. / ’ B : ! ‘ 7
WYY : Thc bit for rough coat (R) is dommant over the bit for smooth coat (r) tor guinea
02-Exc 4-1-1B . - plgs Suppose you cros.sgd a rout,h -cout bumca pig (Rr) wnth a smooth-coat bume
- " pig (rr). ' L
. . © 1. Use a chart like that shown below to determine the possible Lombmatlom
. ol bits that the offspring could have.
) 2. What is the ratio of rough-coat offspring to smooth-coat offspring?
‘ 1]
° ’. .
£ AN 4 \\'
vl b
) . s + ‘.
> ’
. ’
T M L 4
< ‘" - 4 ]
[4
. o , ] ‘
» . . 5 -
. o .
N \
v . . -
N ¢
. ! - ‘ ~
N - ’ . h i .
. . | ‘ ,
LY . r 1.
v . .
. . .
. r ’ ’ -
- (4
« ) i - R ’. ,
) .. a0 g : !
hd p - :
[y ‘ , - . 1 8 N
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Aruitoxt provided by Eic:

y )

,llmlcwtg_nclum them. State two reqsons why Mcmlcl was successtul in umlclslamlmg
thede patterns. v L

A certain breed of dog has seven features that show variation. They are length of wyy
hair. curliness of hair. hair color, spottedness of coatt, shape of nose. length of tail. 03-Com-18
angd droopiness of cars. According to the two-bit model, what is the total number of :
bits that ardog of this (yp’c receives for all of these seven features?
A type of dog receives information for hair length, hair curliness, hair color, spotted- WYY
ness of -coat, and eye color. ‘The possible variations of these features are shown 03-Gore-28
below. ' - ' _
- N]
- ———— R - - - ——t. e e e s SUDERSE .- ~
. a— . P o
S, , I\l Y , . .o
et e e g e . I e e e o e e e . P
arore T b Torv |
' l l AIURI Bl VARIATION Bl'l VA"RlAl N .
. ittt LI::.;.:;-:—':_.'__—_";-M. e :~.—€-—~ —Arpdd '.—_"‘_V— ":,'—',-‘:.:I:_—__:: fb— s Aty .
le length S short - o long ‘. 9
* Hair curliness ~| *+ € curly Tl straight-
, .
Hair color b brown B black
Spottedness of u sp{)llcd U. | -unspotted
coat .
l ye u)lm ‘1 R lm)wn r blue
) : J . o
Use the key above and the two-bit model to determine the appearance of the dog that -
inherited the bits shown .in llu table below. “List the feature numbers, and after '
cach number state the vark lll()ll of the feature that lhulog.wnllshow (Example:, t
I. fong) ' : ‘ [ '
FFEATURLE | FEATURE BIT | BIT 2 |
‘ NUMBER . . ..
| hair fength S $°
i 2| hair curliness gKS C .
. Do hair color 13 B
4 spottedness of u- u N )
cout : ¢ —
. . v
S cye color r R :
A T .3 L
Suppose you found that the results ofan experiment B/ou did with fruit flies did not WYy
agree with the predictions of the two-bit model. , 03-Core-3B
i. What should you do to establish the value of your usnlls
2. How c¢an yourresults affect the moded? 3 '
- M
l’cnpk wlm studied 1nhu|l‘mu‘ pallcms hdmc Mendel (Inl were unsuceesstul ih wyy

03Exc 6-1-1B

.

[Ty .
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. WYY e * People who studied infrcf‘mnsewt(t'orc Mendel did werdtinsuccessful in understand-

03-Exc 6-1-2B ' "_ ing how it worked. Mcndd used mathematics, a model, and the systems dpproach '
‘ - Explainiwhy each of these is Iu:lp?ul in sol\(_nu,,a scientific problem. =

‘WYY - -~ In zinnias, the bit Ior tdllness () is dominant over the bit for dwarfness (). Thé

03-Exc 6-2-1B " bit for red flowers (R) is dominant over the bit for yetlow Hewers (r). Suppose you'

- had a zinnia plant that was pure strain for dwarfness (tt) and for red flowers (RR).
- You crossed that plant with one that was pure strain for tallness (TT) and for yellow
flowers_(rr). I’%dut thc appcammc of the Ilrst~1.,e|{crat|on otl‘sprmz, of this cross.

.
e h] s a4 [ : -3
—r

v
'

WYY : *You may refer to Excursion 6-2 to hclp youl answer tlns cheek. . In-zinnias, the bit
"03-Exc6-22B - - tor tallncss (T) is dorhinant over the bit for dwarfness (t). The bit for red Nlowers
' 2 (R) i¥ dominant over the Kit tor yellow ‘flowers (r). Suppose you had a zinnfa plant
that was pure strain foi dwarfness (tt) and for red flowers (RR). You crossed this -
plant with one that was pure strain for tallnéss (TT) and for yellow flowers (rr).
Predict the ratio of the (eature variations tlat you would- find- in the second-.

generation offspring of thigeross. o

. B—

WYY - When a black Andalusian chicken (BBY is mated with a white Andalusian rooster
03-Exc 7-1-1B (WW), the offspring are a mixed black and white that appears blue (BW). The genetic
. ' bits for color do not scem to mask cach other Lomplctcly Copy the charts hclow

Then predict the appearance of tlu offspring of the two separate crosses.

. Chart 1. ° | | v | y

» . Blue Blue - ' T ' P

[ [ | i
. N ? ‘ - ?°
éha?fl - ’ /
, o White Blue’ )
v ‘ i ’ .
' I T 1 e
N ? ? ?
. . o
Lo !
:,,. ~ ) A . g
L 1 5 4
. 4 - .,‘
. N
‘ . ' .
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Get from your‘tcz\chcr a copy of the chart below or paper to trace it.
ln some insects, inheritance of wing length is related togthe sex of the insect. In
the males, short' wings are dommant over long wings. In the females, long wings are
dominant over short wings. '
- each of the insects.
o with w.

‘Indicate on your chart a possible pair of bits carried by
chrescnt thu bit for long wings with W and for short wings

.,

s - 3

| KEY

Male with
long wings "

Male with.
short wings::

it
Female with
long wings

\ v-‘71
Female with
.short wings:

|
I
I
I
1
}
l
!

. .- Places for
bit symbols

~

\
— . PO

~3

, WYY
03-Exc 7-2-1B"

7

Archie Safitord has three lovely daughters, but he complains because he does not have
any sons/ He blames his wite for this. ' i .

. Is his rcasoning Iog,lunl when he blames his wife for produung only
daughtcrs’

2. Explain your answer. \

wyy
03-Exc 7-3-1B
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wyy
o 08-Exc 7-4-1B

o -

- SECOND-GENERATION

OFFSPRING

Get a copy Wla eled WY/Y- 03 Exc 7-4 1 trom your teauher You may usc‘

Excursion 74 to help you doathis check. In fruit ﬂles the X chromowmc varries

the bit for. the recessive lilriation forked bristles (X ). The Y chromosome carries
no information for this (@@turc.” The appearance of and bits for the parents are given
in the chart below: 'You ag€ to predict the appearance of and the bits (X!, X™, and Y) .

- that will be carried by the first- and second-generation offspring of the cross by, -

filling in the blanks on your copy of the Llldl‘t Remember that XM represents the
normal tradt. : ‘

" PARENTS

xf xf X" Y
S R . ) APPEARANCE APPEARANCE ) .
Forked Dwistles Normal bristies B

'FIRST-GENERATION
OFFSPRING

APPEARANCE. APPEARANCE

L . .. \
APPEARANCE APPEARANCE APPEARANCE APPEARANCE

S —

s

WYy
03-Exc 7-5-1B

Ron and Don arce identical twins.” Like other identical twins, they both received
identical sets of” genetic material from their parents. However. Ron and Don do not
look exactly alike as adults.  State what might have caused -these differences.

WYY.
03-Exc 7-6-1B .

Suppaese that a year ago you released one hundrcd black snakes and one hundred
green snakes on a rocky island. The island is made of black volcanic rock, and there

*eis little vegetation. On the lslaml there is.a small ﬂouk oI birds who will ()uaslonally
.ocata snukc ;

I Would you predut that thcrc are more oI one klnd of snakc tlmn of the
other now Ilvmg on the island?
2. l.xplﬁn your answer.

v g~ ) s, . a%
— T

-

-y

The Yolulm.trlbc of ngerm have hccn making scars on the cheeks of their babics

“for many generations. “Suppose this practice is done for many more generations.

1. Will this. practice cvcntually cause Yoruba children. to be bosn-with hlts
. of mlornmtlon for scars on thclr chee ks?. -
2. Explain you; answer.
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1. Can a statement like this ever bc_ truc?
2. Explain the reasons for yoyr answer.

Below are two definitions ot ways in Which people differ. Study these definitions, _ 4 v
and answer the questions thdt fo‘]low T - 01-Core-1B
Dei'initibn‘ a. A person’s gold-finding indpx is his abnhty to find gold mines.
Definition b: A ‘student’s Kick index is 3 measure of how fuar he can kick a.soccer
‘ball. Itis determined by measuring in m' ers how far he can kick a properly mﬂated
“soceer ball., , ' v -
J .
™. Which of the above is an operational dcfil‘lit-ibn? S ‘
2. Explain-the reason for your answer. : ' . S ) i
A . ’ [ J T
Whenever possible, there are two qucstlons an opuratlonal deflnltlon should answer. N V)
~ What are those qucstlons’ ' ~ 01-Core-2B
l’crhaps you have heard pcoplé make statements stlth as “AlI pcoplc over 30 are the (AVES
same.’ -01-Core-3B

Just rclymg on your senses whcn you want to Lompdre different thmgs

" Why do scientists spend a great deal of time-looking for patterns in the way things . v . A
chaiige? : . - . ' 01-Core-4B .~ ' #7%
Junior high school pupils differ in their ability to jog around the school track. The v-
distance they can jog is Lalled the /u;,gmg index. Writc an operational definition of 01-Core-5B
jogging index. . o IR ¢ BN

= : : m—
Suppose you wanted to compare the ability of different students in your class to - v
play the banjo. "From the choices below, select the best way of measuring banjo- 01-Core-6B-
playing ability. - ' . T ‘
.a. Ask each person how chI he can play the banjo “ . R
b. Ask cach person how many banjo lessons he has had: . ' ' P
¢. Ask each person to tell'who his banjo tchhCr is. ?
d. Ask gach person to play. the banjo, und’Judge how weH cach doe
. Ask cach person to play thc same untamlhar songs, aml Uuunt tm numbc _ . B
. of mistakes ¢ach makes. o RS .. © e S N
‘Whatisan advantagc of usmg a mcasurmg device, suuh dS a ruler or a tcst rather than — 2 IV
01 Core 3

..
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* Burt was measuring reaction time, using the droppmgmctcrsmk mcthod He found

that Linda had-a much shorter reaction time than anyone else. He also noticed that

»she watched his hand release the metprstick. “All the other students had watched their

own fingers with which they Laugh t the'meterstick. Burt concluded that a student’s -

reaction time, as measured by the dropping mclustnk mcthod is shorter when he
watches the release of the meterstick than when he watches the catch point.
~an activity ‘that you could perform to test this idea. '

.

L)

“Describe:

01-Core-13B

that lhcy do this. .

. P
h ¥ y—
v When a tcxtbook says that a fcature sllows Lontmuom varutlon what'does that
01-Core-9B ,mean? | . _ -
’ ‘ s
v - When we say that a featyre shows an either-or v‘uriz!tion, what o we mean?
01-Core-10B ' . o : '
v .. . ldcntnly cach of thc armhlcs bclow citheras a oontmuous valmhlc or as an cnthcr~0r
01-Core-11B variable. - _ ' .
' ' 1. Whether-a p”crsOn has ever been to Australia
2. How fast a s¢eretary can ‘type
3. The length of a girls hair
* 4. A man's age o
' 5. a man is a fireman or not
— o 1 —
v o Stu measured the distances the students in his homcroom could ;wlm His measure-
01-Core-12B metits in meters are'shown-below, | _
Henry © 182 Jim 183 Janice I45 :
i Fred - 150 . Lynn 153 Wayne | 165
) - Wendy 140 Louise 1 7% ~Amy ° [67
. Bruce . 180 Mary 1062 *oStephanie. 15 \
Betty 102 Nadine - 147 George 105 .
. Sally 107 Brmn 178 Fran 140, ‘ *
Copy the-table shown hcl,ow and- uomplclc ity using. Stu S mc‘lsurdmcnls
(g e e g m e et e e W A .~{"-- . ,\ .
_ . J)ISIAN(I (m m) TALLY l()T AL
lw |4<» . |
' 7 §4 T . . i
I4 I R = —— - ._&.'_ Sveem =
. ISS ]()‘_ ?‘,'.'. '
: |m 170 LT .
. “ e e e o e e = e mn - JRDR— :-',_;5;'. e
' 171 178 ’ " X3
- B st — e o e - I tepe v . - .
17‘) Ix() . . ’
L - o [ IORUE N Y )
v < “Scientists uxually arrange lhcnr dala in Llhllls tables. or. graphs. Stafe {Wo reasons

<L

. x
25
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Luis wanted to determine how many students in his Sass had had measles only once - v -
and how many had had measles more than once. Construct a table for collecting "~ . 01-Gore-14B
and analyzing his measurements. ' . ' Do
* C t
. Holly winted to measure the number of words her Llassnmtcs wuld type pcl minute, ® S v
She gave cach of- the studenty the same paragraph to copy. She had them begin® . ’ 01-Core-15B.

typing at the same time.  After they had typed for one 'minute. she told them to
stop.  Her data are showit'in the pabic betow, Construct another table of all her
typing speed measurements from ich flolly wilt be.able to construct a histogram.

(No_tc' You nccd only to u)nstrud the table, not to enter thc data on the table.) - o “ 7
" __'_,,,w~,_-f___._.___.___-_m : a1 A N T
SIUl)l Nt W NUMBER OF ( S1Ul)l Nl NUMBI ROV f - Lo ot R %
. WORDS P YPLED WORDS TYPED | ™"~ '
v koo E - P e | e Rl T 2 __. == . ..
.l'ﬁllcll o ' 7()‘ 7 Orvil ' 08 .
| Harry 30 ‘ ()Iivg : ‘ 59 . e
Géne | R Esther & 42 S | o
Alice 400 . ||" Abraliam * 30 : | C
Fred - 50 | Ken S50 | o
: Ted ™ 51 Celian " | - 55,
bnid | - 737 0 - |l Lim® 0 | 4
@ | Gmee 30 Lened 00
~Fred wants t() determine it there is any relationship between whether a- student is ' v
right-handed or left- handed -and whether that student is male or female. “Construct - 01-Core-16B
a” “table for collecting und andly zing measurements to find out if thesc variables are o '
7 relited. © o L
Jerry wants to find out whether a felationship exists between the sex of a student | - v,
~and theé number of extracurricular activities he or she participates in. Construct’a - . 01-Core-178
“table for collecting these measurements. - C .
Your teacher will observe you.{or this check when he can. . o v
w e o ' _(01-Core-188
Your teacher will obsérve you' for this check when he can. . v
' L ' o A .01-Core-19B
Your teacher will.observe yau for thi';'-clli‘\cii«\VIicn he can.” . ' AL W
: . : ' TR - o 01-Core-20B.. .-
8 ' ﬂ » ] ° "
o » ) v &
Y , . )on \"
» . d‘n .'!., ‘ B
/ K
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W .'Your teacher. will obscrve you for this check when he can. .~ ,
© 01- Core- §1B ' e A e
L o, R E : o . é 3
— r— g .. - : . - i - T : 4“ .
v Your teacherwill observe you for this check when he can.

_01-Core-22B

-
a

1
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01-Exc-1-1-1B

\ S -

RN Supp()sc you mcasurcd the lcngt of a yardstuk in metm umts Which
. . of the mcasuremcnts given below’ “Would be closest to your mcasurement’

- Il m . d.91m L2 .
W b. 910 ¢cm e ¢. .91 cm
' a c. 9T mm - L9 em Ly e -
- 2. Suppose’ you measured the thickness o(ﬁyour ISCS textbook in metric
- units. Which of -the. méasurcments given below would be clostst to your
¢ - measurement? - : - o : =
. 70mm . - dTem : E
] b.7m ‘ ¢’ 07 mm . o _ ‘
" ¢. 700m f. 7mm C e - ‘
— , /
IV I. What is the distance between A and B in centijicters? - SR R
01: Exc 1-1- ZB 2. What is the distance between B and C in millimeters? ' '
' i s -
) ’ } ..‘ S i
; . ' . N L4
. r . ‘ , )
- A - B . | ) ' .C, o
_ 13 15
X 4 ‘ © ' < .
. N o
@ ¢
) ’ . 8
3 2 —_ ——- &
' : ¢ :
v Ruk measured the width of a plcw of Iumbc ras 21.47 em. Frank mehsured the
01-Exc'1-1-38 “width of the same picce of lumber as 21.44 ¢cm. What is the most likely reason for
" the differgnce in their measurements? . : ' ’
4. 3 > : : .‘-J'
v Calculate the average ol thc*iollowmg measurements to one decimal place. - A
01-Exc 2-1-1B* Jdcem : ‘ : . . ' -
‘ . . 43 ¢em ‘ s e . ' o ' .
N ' . Bdcm o ‘ . |
S / , -85 2¢em - ' v Cw
- 3 - X n - " R - —— - (‘ 'ﬁ — , .
s A - l o
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Rou_nd off the tollownu, measUrumnts to the nearest wholc number. ' AV
) .24}t m - ST sy 8 s 01 Exc2 1-2B .
2.646.8m >~ . _- -t 7
. e ()l(fj n‘ ) . .' ' . . ) . . ':v
. 4 595.5‘mf i S e TR : ;
. 5‘ 02‘7‘0 n] . ) ‘. . .y, :--. s NN .- B . X \ v . ;-
‘Arlene measured the handcdncss of ead] of her cldssmdtes She separated thc r«,sults . L' '
for the boys and girls. Her data are shown bdow, 01-Exc 2-2-1B
R - e ' \ .. M :"‘ ;
' , AHIANDLEDNESS.| - - . .
) LH|{ RH | Totals " | o
+ I K « T . .
: : {S Boys 5§ 1 RY __ . S .
) x| Girls 3| 10 | 13 |
_ Totals - 8 22 30"
ﬂuppoqc someone made the statc ncnt tlmt glrls Jru mory llkcly 10 hc left-hahvded
«Ihan boys. ~ v ! : ’ "
.. Could you usc /\rlcnc s data to tellif the statement is correctd ‘
2. Explain your answer. ‘ - ' o
Sllppose someonc clse said that boys aru more likely to be right-cyed than girls,
. .3. Could you use Arfene's data to tell |I‘lh|s %thcmcnt is correct? ’ _
4. Fxplain your answer. c e s ) r
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{State whcthcr cach of the pairs of words below represents a’confinuous or an either- P 4
o variible. » : o R ' :02-Core-1B
- . Higly or lo s e , , . ' .

N o

b o N cepl e e P . - .
' . Left oreright . . -
' L 3. Dog or cat Lot ‘ : - - - o
Y 4. Skinny or fat . : o : I R
K . d : . ' . L T 3
.Sul!x"s data showed a wide range. ?tutc an opcrinti(')_'li'ul definition for-the term rdnge | e - vV
- sasitis used in that sentence. . ' S : . 02-Core-2B
» : : , |
Rick measured the 'fnunbcr of sit-ups the boys _il'i his class could do. His data are ' V...
shown below. . - , - . - ' . 02-Core:3B
STUDENT | NUMBER OF' ||  STUDENT | '‘NUMBER OF _ . R
) SET-UPS. SIT-UPS - . o
. . - - e Moo aersMm e i mmunomecod o ms crowmrreemseom—m o) N : - ’ . T
Chris 5S - - Steve o 12 s o T
Emmy 03 Brian . 42 , ! !
Luis 15 - Dave 48 . | L
, . | BiH 8 faFrank sy R
S| Rotert 10 M otamy ] 00 -
. C o e e e e . “_J:._.“.. . B ‘ .- 'k _l P . ‘ . .,
What is the range of his-measurements?t - © ' B . '_‘ o e
- Give arioperational definition for the meah of axet of measurements, S (V2
. : - I S y oL T 02-Core-4B
.Dominic measured how loug. it took cach of the boys'in his thss to run 100 meters.  » © e v =
,» 5 2 ) \‘” . Y ) . . ) Al
18s data are shown below. ’ - T ) ' -, 02Core-58 )
STUDENT | TIMET(in sec) ot : R
) Tim ... | lo o ' - i . R
{ Nick 14 - R . . - :
George - 18 . ‘ '
Alan VA - s .
. K - ] -
Stk“’t‘ l\z o ”» N - - “ ! -t N
Sam- ° 15 ' - ) T
' | Hank _ 200 . ‘
' .| Sonny 14 : - ,
; i . . L . ...4.. s ‘ " ' . . . .

~Cateulate the mean of s nncusurcnncn‘é to the nearest whole number. ¥ ot
RN . . :"L( . ) ' X ’ B B -

-ty T

"y




—ry T A ~F . - . o R
CGive a-definition of the modé of a set of measurenrents. -

02-Core-6B - T
v Betty askcd her Llassmatu to keep track of thc nunmber of hours they spcnt readm;,
' 02-Core-7B | for p]wmlrc m one wch Her data are shown l)clow "o A
l_.._._ ———— : " ’ N .
STUI)E NT TIME STUDbNT TIME
(m liours) (in hours)
/JA)sc /10 Ethel 2
’1 -
_ ' 1. \
. Gen ¢ 18 Amclia. ~ ° 4...
S e Carlos - 9 | sayl 13 .
¢ \-}E"‘. » E \ . 1. L . N . . DI . .
. N ] Wayne . 4 Nino e |1
. U |dack 3 ‘Szllly : 7 ¢ o 0° X
Chyis - 20 Esther 5 -
> [ ) - [, — PRSI S ——
A What is the mode of this set of measurements? : .
. . / - . ~ . s
— : 7 Y & — .- b
v 7« ' " lester mcasuwd the hcu,ht ol cach sludcnl in her class. e table of data ls shown
~ 02-Core-8B below. oo : .
co L HEIGHT | NUMBER OF | |
" . © 7 | tininches) | STUDENTS '
R '*. LU .“.'A.'":-.".'..:.: R ‘!.I o '
i 50-52 -« | I LY y
. . .~ ';"“ . ‘ 4 /
53-55 3- A
i k
o 5()-58 4 ’ 4 2
. (3 S()_()I 5 v - - A,
. o 02-64 3 - ‘ v
B ’ | 65.67 - 2 . ! ‘
: 0K- 7() 2 .
.l - ,
! . 7I 72 N I. - i
Get a picce ())l«.lph papcrfnnn your lcachcr ()n it, Lonstrud a histogram of Hester's
e data. 20 “ .
v - Data are often arranged in histograms or in other kinds'of graphs. W_hyf.”:
02‘C9§9'QB ‘ ‘ T . ' T "v ) ) Lt 7 ) .' N st . .’ L) i
: | ) ] -
" 3 / ( ‘
N ’ -~ ” -
} i 2
' FETLINE ) P
t N4 o
. A4 J 0 j;‘ ) :



Larry ‘measured the number of push-upseach member of the school fodtball team

could do. His data arc shown below,,

63 59 A8 60 70 58 61 71 SY 713

62 65 58 60 62 63 61 64 67 54
55 61 64 62 68 S57 60 59 S8 ol

_ ( omtrugt a tablu like the one below, and group Larry S data in htths.

LIMITS OF RANGE,
FOR THAT FIFTH |

| NUMBER OF |
INDIVIDUALS

v

[ FIFTH

i

02-Core-108
ot

v . ¢

o Scacntlsts will often do an cxpcrlmult collect some data, and dmw a uonulusxon

froin their data. Then they will repeat-the experiment, Lollcumg even morc “data.
Often uxpcnmcnts are repeated many times. Why?

AV

‘_’02 Core-11B

-

S —

When yqu measured cadl student’s peripheral'vision, you made three measurements
and averaged them. You might have taken only one measurement and avoided extra

. work. Why dul you take three mtasurements and average them?

>

Iy

. "02Core12B"

The students o\l (‘untml Jumor High Suhool WOTe § selling tukcts to raise mongy for

. the class dance.” Hank was in charge of keeping the records for his class. The numbc

of tickets cach student sold is shown beloW. h v
L. Is the:number of-tickets Rick sold s
ah()vc or below the mean for the whole STUDBNT NUMB} R OF,
class? © ; 1. ' ”jjf KETS S()Ll)
2. How far above or bclow the mean. is it? 'Hdl‘()ld , 15
, " | Jim s 29
’ : “‘t‘:;.. o .
. 1 Cindy . 23
7 3. . vt ’ o
. - S, | Karen . -5
| Lloyd - 2
| Tony | ' 9 )
. "o - 'Ui_)()l.lg 22
i . _ Tred | 0 .
s ’ « - i ’ R
) | Ted . Il
- Rick B E
* et m e o v o B e e i

. . v f

02-Core-13B
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'02-Core-15B

v o L:zra mk“I\lllL‘(l a certainkind of sch shell. “The shell’s length was 10 cm. -
02-Core-16B > Based only on the Tata above, is it posslblc to dclcrmmc it the shcll is a
Iar{.c medium, or small shell? o
. 3 Lxplain the reason For your answer.
v . Ricardo tested some of his friends both for sensitivity to touch and for their-
02-Core-17B " ability to locate objects by hearing. e mzltlc his friends keep their eyes closed”
o during the tests. .
R
‘ I. Was it necessary for them to kccp lhcn‘ cycs closed during the tcslx"
2. Explain your answer - P
b" ) - oy . ) j
A i [ v »
A
‘. ¢ ‘ .
[ v.
L4
. - g RS
‘\ i Y A3
/ , .
, 32 |

RS

fricnds to describe for him what an average tnormal) person is.

Joscph meaxurcd thc tlmknm ot scvcral books in thc school llbmry, Thc tahlt, '
02-Core-14B below shows the thickness of cach book’in wntnm ters.. )
" | BOOKy |THICKNESS . .
B NUMBER| (in.cm) _
| -4 _ R
k o -3 * : :
3 6 e .
4 8 . .\"
S . 3 . _ .
B 6 6 \ g
.t .Total ; 30- L o L
thickness :
. b [
& Mcan 5 :
« { thickness o
How is it possible Ior the mcan thickness to be 5 cm although lwnc ot the hooks
were 5 em thick? , : - ‘ . '
v. A group of students were making. a list of human traits. One student asked his-

‘the text that “*Perhaps the -hest L\mmplc ol in average person is somceone, whose
characteristios are ot average.”

Explain what -the (LX[ means by that statemcent.

7

x

Aruitoxt provided by Eic:

Robert read from )



. L .
Pam put 60 beans into a glass jar. " She asked ten ditferentspeople to estimate how - C Iv.
~many beans were in the jar. Their estimates are sliown below. . ' ‘ 02-Core-18B .

<
(3

P W

o [wame | usmvate | B

Grant eS8 B L K e
Hilda 0 - | - |

oL | Rayesof oSS e -
B]” - S(’) R ‘_ 7- " YR . . ) I

CRoser | 74 | ' o :"‘..-'?-'
+ 7 | Rieh 54
| | Candi « 1 - 40 _ s

i | Gail 4o 40 AP : : T |
Paal YA B . - S %

. . Qn, [ : 4 ; U i : )
P g’ _____ .- ,a_é'... UL § v M : v . o * %
What is the mean error of these estimates? ‘Show your calculations.
Suppose you are given the assignment ot calculating the mean crror for a number of C v
‘measurenient® of the length of time of an event. These measurements are estimytes. 02-Core-19B
Why is the niean error of measurements calculated? - - : _ '
. .t ) 3 . LA
o Peter tested several students to see how uccurz!tcly they could estimate when |7 v
kY

seconds had passed. His data are shown below. ' ‘ 82-Core-20B
* . 13 .

¢

N STUDENT | ESTIMATED TIML ' » . .
(in seconds) - . . :
N o Jim I8
Susun O N : ¥, .
Nancy ' - . :
: r &
«. | Frank R .
Carol . IS
~ p
< : John * 20¢ e o ‘ .
Sally .~ - 09 . | %
) Mill'y 4 . ‘ : i ) , S
Wes t I8 . .
tos George 171
. " VN .. b e PR .. e ma s . /'
What is th& mode error for the time sense ol these students? Show your calculations. o
" . . I ' h ) ' B
o , ' _ - !
ERIC . =~ .33 S
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02-Exc 3-1:1B

.
*

, - ! '.-
Vv Dr. -Roberts and Dr..Cooney are both mtcrested in charactenstnu of le‘IOUS groups.
02-Core-21B . They constantly measure patterns and similaritiés within g broups being studied. Why
' *are rescarchers like Dr. Roberts and Dr. Cooney more Loncerned about patterns and
snmlantncs than about individual dn“crcnws’ :
v i Peter calculated the -mean height of all the students attending, summer- schoyl The
. 02-Core-228B . mean height was 160 cm. Roger was one of the studcnts in summersc¢hool
' I. Using only the above information, Lan you dcternune Rogcrs heng,ht to"
i the nearest centimeter? S _ .
» 2. Explain your answer, . ' v
v

Mrs ‘Freed-tested her studcnts rcfhng speed. | Shc plottt,d a hlato;,ram of the ddtd
colletted. "o

I, List the Icttcrs of the points on thc lnstoz,ram that she should use to Lhauge
the histogram into-a line graph. '

v

= What arc these points called? . L.
’ \ R
. .
|._
4
w .
Q, ‘
-
|._
1%
S A
o
<.
m
=
:) I‘ ..
‘ Z ’ -
| ’ - 5074 . 75:99 100-124 125-149 150-174 176-199 200-224
' READING SPEED (in words per mmute)

. e

T

v
02-Exc 4-1-1B

v

« Usca pr()ll.ul()r to mc.lsurc the sllc ()I the- twor.,tm,lcs bclow Rcu)rd y()ur dnswcrs

-+

an.a sgp.nr.llc paper. - ~ _ - o .

»
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Use your protractor to construct angles of 35° and 118° on your égs\ycf_éheet, and.

. Arimals with different characteristics often live in different areas,eat different food,

P Y W

label cach of them. . '
. . L4

H B —_

and have different enemies. The chart below shows some of the differences between, 02-Exc 4-2-1B
two kinds of animals. ' Lo : ' " e . o
- ('l-lARA(‘.Tl{R'ISTI(TS.'W ~ANIMAL A~ ANIMAL.B
Type of animal small, hooved large bird
animal. . ' :
Living arca lnqunlainsidc ~ nests-on trees -
Main tood " - Zrasges " fish
. Mcthod of feeding . < grazes grass catches fish at
' ' " the witer’s surface . .
. Enemics N mountain tions |"7 man S A
; ' and bobcats ‘L R SRR e
_F-Would it be advantageous tor animal A to have its eyes in the sides of its - ' " Lt
head or in the trong of its head? : : . S s o o
2.kxplain the reason for your answer. ) . ’ : ¢
3. Would it be advantageots tor-animal'B to have its eyes in the sides of its -
"+ head orin the front ot its head? IR .
4. Explain the rq'u.«ion'.for your ansber. Lo e .
L S - i
In a recent polige investigation. several standard fingerprints like' those shown below LY
~were used as comparisons.  Sate-cracking Sam belonged to the loop. category in 02-Exc 4-3-1B

" the standard file, yet his‘fingerprints were-not exactly like the loop pattern in the e

standard, set. - Lixplain why. — \ o L : o,
! o ., s ‘_-" “ .. . N . LI
v Y
< . v v
haY
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.
-
‘ - d
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V.. s -Whm rcsparuhers mcaburc thu Lhdfattt,l‘lstlcs of .a- populatlonw ‘they usually "make-

02- Ech 1 1B mcamremmts on only a sample of the populdtmn Why is this done rather than
- |;1akm;_.. measarements of the entire population? : '
v : " Which one of the curves below is 2 normal curve? , ,
02-Exc 5-1-2B g b ’ . ' o
L . Graph a. TTTT11] Graph b. - _ T o
¢ I T . T R
wn
w w 9
og N c< 1 '
e, ca
$= o > [
$ 1 (=) ¢ 0O [
2 - Q
‘ zZ 22 ! ‘
— > . —>» .
LENGTH OF HAND . LENGTH OF HAND T
Graph c. L . 'Hr}_lﬁ Graph d T C
, B - o
. 9,“ 171 :)[‘
w - : a°
\ O< ~—<>-*4L-'—--:I .8< r
- x 3 « 3
CW = [ - w 9 '1 :
o> i Q> J TN
« = 5 .= 5 e )
| 22 zZ Y ‘
LENGTH OF HAND ° LENGTH OF HAND .
v ’ + ° Suppose you were going to measure contihuou% human variable such as weight.
02-Exc 5-1-3B Y ou would select a mml()m sample of people, méasure their wéights, and draw a graph
» ()I the results. Which of th graphs below, would you expect your graph to IooI\ Ilk't ?
Graph.a. . Graph b, . ] i
7] 7]
J : -
: o3 ox
. gg %9
: > >
%9_ _ . . 50. <
. z o Z z >
' w N . ) ) e . ’
, Ce INCREASING WEIGHT T INCREASING WEIGHT
Graphc. - T Graph d. - .
m \ .;D w .
--’ . . ,_J
6 _ 5
2 p 25 - .
’ ws w9
m> P [a0]
=5 [I'E=T =3 HT
2 2
zZ zZ
v . _ - ) -
, ~ INCREASING WEIGHT .~ INCREASING WEIGHT




What is meant by the term randoprsample?.
L St T ) ‘:' . ; - . . . . T i h..'_ .
v . " s . . ,1;5;' . Lo )

. 4

S ']
02:Exc 5-1-4B

'

A

-, - Researchers tly to get a randony samplc Wllcll they mvum,ate sometlunz, What is |

the purposé:dfa random samplc y B _ S o S

02-Exc 51168 "

Don wanted to defermine how many nfovies the people in his ncu,hborhood saw cach
month.” He didn’t hjve time to ask cvclylmdy in the neighborhood, so he decided
to \clcut asdmple, “L. stood. hy the ticket booth of the neighborhood theater and

asked llw first 25 people who Imug,ht tukctx how many movies they had seen in the .
o
o last month : : : ~ 0T
‘ I. Was his sample a random sample? N .
2. Explain your answer. _ S Y v
I,. ’ N : ¢ ‘vv
‘ -
". .
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